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60.
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62.

1 63.

(A) Spread (B) Few
(C) Scarce (D) Little
. Which of the following is not an antonym
of ‘Ripe” ? .
(A) Raw (B) Retrograde

The young one of a deer is called :
¢A) Puppy (B) Cub
(C) Kid (D) Fawn

. A thing which is costly to maintain:is |

called : |
(A) Black elephant (B) Golden elephant |
(C) Grey elephant (D) White elephant : |
Which of the following is not a synonyn. |
of ‘Scanty’ ? .

(C) Immature (D) Undeveloped

In *a great many books’, ‘great” is :

(A) Noun (B) Adjective

(C) Adverb (D) Pronoun l
Which of the following punctuations is |
called an “ellipsis™?

(GYN I B)[;]

©LnL1  O-] ,
He not only wrote the book .......... sclected
the examplecs.

(A) but only (B) but also

(C) as well as (D) notall

Which one means ‘lazy}.

(A) ldle (B) Diligent

(C) Credulous (D) Ideal ‘
Directions-(Q. 64-68) : You have a bricf

passage with 5§ questions. Read the passage
carefully and choose the best answer to each
question out of the four alternative and mark it
by blackenmg the appropriate in thc Answer
Sheet.

PASSAGE
Small improvements can lead to big

changes. A few flowers can change the look ofa

el P.M.N.—2

~Tne S



room. The efficiency of'a factory, for instancc,
depends upon an infinite number of operations,
performed properly from day to' day.
Abraham Maslow, a well knewn
psychologist, mentioned with admiration the
case of a young man who spent scrveral years
in Mexico digging deep wells to provide clean
drinking watcr to the villagears. He managed to
digonly three wells and had to spend erormous
amount of time teaching the villagers to use pure
water in place of contaminated. water. There
might have been only three wells bus they gave
the engincer a great feeling of achievement.
Charles Darwin has shown that given
enough time, small and gradual causes can

produce large and radical changes. His last book |-

was in fact on earthworms. He was preoccupied
with the theme for forty years. He had shown
that on every acre of the chalk hills near Down
(England), worms brought up eightcen tons of
_earthannually. What a stupendous achievement
for the small and insignificant earthworm !
Even the dullest of men is a million times
more creative and productive than the
earthworm. 1['men were to work in unison like
the earthworms, there would be paradise on
* earth in the not too distant future:
64. What can bring about a change in the
appearance of a room ?
(A) a few flowers
“(B) a bunch of flowers
- = (C) Some chairs
(D) Digging wells
65. What gave the engineer a grcat feeling of
achievement ?
(A) Being able to provide villagers clean
water
(B) Being able to dig wells
(C) Supplying water to villagers
(D) Talking to villagers
66..  Which of the followings statements is true ?
(A) Man is not as creative'and orlgnml as
carthworms ‘
(B) Earthwosms are lntelllgcnl and
hardworking
(C) Every human being is more creative
and more productive than the
carthworm
(D) One man can do what millions of
carthworms together can achicve
67. What docs the author want to convey ?
(A) If only men were to work unitedly, a
lot of thing could be achieved
(B) People should learn to drink clean
water
(C) Big improvements can bring great
changes
(D) Men should work like carth:worms.
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68. What can lead 10 big chnages ?
(A) Big improvements
(B) Small alterations
(C) Big alterations
(D) Smat! improvements
69. In the following question, some part of
- the sentence may have errors. Find out
which part of the sentence has an error
and sclect the appropriate option. If a
sentence .is free from crror, select "No
Error',
I was taken by surprise (A)/whvn |
ame(B)/face to face with my school
friend.(C)/No error(D) _

(A) A (B)B
©c MD)D
70.  Select the word with the correct spelling.
(A) sylabus (B) éncroach
(C) coalesse (D) adhetion
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(A) 1947 (B)-1949
(C) 1948 (D) 1950
1/\' _

1. (B) 2.(D)  3.(A)  .4.(B)
5.(A) 6.(C) 7.(A) 8.(B)
9.(B) 10.(B) 1L.(A) 12.(C)
13.(C) 14.(D) 15 (D) 16.(D)
17.(A)  18.(A) 19.(D)  20.(A)
J21:(B) . 22.(C)  23.(A)
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25.(C)  26.(A) 27.(C) 28.(A)
29.(D)  30.(A)  3L.(A) 32.(D)
33.(C)  34.(C) 35.(D) 36.(A)
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